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Date Advanced Algebra

GRAPH EACH POLYNOMIAL FUNCTION. List the local max, local min, y-intercept, and end behavior of each.

1) f(x) =x*—=10x2+9 ; Roots = +3,+1 2) f(x) = —x* + 13x + 12; Roots = —1,4, -3
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3) f(x) = —x?—4x+5; Roots = —5,1 4) f(x) = x> — 3x* — 4x3; Roots = O mult.of 3,—1,4
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Write a polynomial function that has the given zeros.
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5) 2, =5 i~ 6) —1,3 iﬁ- ) 7) 0 mult. of 3, -3 mult. of 2, 5
(2¥-3) Xt9) (K DXCBXS x> (A +3)(x43) (x-5)
XL3wxix-3 X2 (xT4 X t2) ,
Z)(HW [0X-3x-195 yE-1x-3 x>+ x4 +IX

X | x3 % |-3x X xwg Gx3 -qx.,s
{ZXLFY x»l@»(gl -9 potinx{1s -5 H 53\
P

Find all zeros of the following polynomial functions and graph. List the local max, local min, y-intercept, and end

behavior of each.
8) f(x) =x3—4x2 +5x —2 given that 1 (mult. of 2), and 2 are roots
Roots:
Local Max:_(_1, () ) Local Min:_(1-9,- 115"
T vint: () = 2) es: AS X200, F(x) >- 1o
AS X500, f(x) S0

(1.5,~129)

9)f(x) = —x5+ 2x* + 10x3 — 20x2 — 9x + 18 given that 2, +3,+1 are roots

Roots:
L # Local Max: (01 \?) LQ-S,‘La) Local Min: (_-al-(,03 (.l 6.-“].27
A vint: (0, 1§) es: AS X 9-,£(X) fo.
7l_ ! ‘ AS X2, f(x)-©.
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11) f(x) = x3 + 10x% + 33x + 36 given that -4 & -3 (mult. of 2) are roots
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/ - Roots:
P 1] Local Max:_ (=3.9, V28D Local min:__(-3,0)
/
- ] > Y-int: (\D!?P) eB: AS X 7 'kl‘F(X\"-bo.
- sy o EG) 200

(—?7'61 "16 )

Given the following graphs, determine whether the leading coefficient is positive or negative, and whether the

degree is odd or even.
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